Chapter 1
The Scope and Methods of Developmental Psychology


1
What does the term “maturation” refer to?


a
Development due to age.


b
Development due to education.


c
Development due to social convention.


d
Development in adolescence.


e
Development due to genes.


2
Development is reflected by a continuous growth function in which of the following world views?


a
Economic.


b
Mechanistic.


c
Constructivistic.


d
Folk psychology.


e
Organismic.


3
Who formulated a stage theory of development?


a
Skinner.


b
Blakemore.


c
Lashley.


d
Piaget.


e
Siegler.


4
Which of the following can produce a population bias in a longitudinal study?


a
Between-person differences.


b
Within-person differences.


c
Selective survivorship.


d
Age-related differences.


e
A low drop-out rate.


5
Which experimental design can help researchers decide whether longitudinal and cross-sectional results agree?


a
Sequential.


b
Interactional.


c
Block design.


d
Repeated measures.


e
Counterbalanced design.


6
Who published a baby biography of his son William Erasmus in 1877?


a
Piaget.


b
Vygotsky.


c
Wesley.


d
Thurstone.


e
Darwin.


7
Which of the following is not a weakness of the baby biography research method?


a
They are insensitive to subtle changes in behavior.


b
They can overgeneralize results.


c
They can be biased by a prior theoretical stance.


d
Anecdotal evidence given is retrospective.


e
There is often a small sample size.


8
Which of the following methods is a combination of observation and loosely structured experimentation?


a
Clinical method.


b
Event sampling.


c
Time sampling.


d
Baby biography.


e
Continuous sampling.


9
Who is famous for using a clinical method in studying early development?


a
Blakemore.


b
Piaget.


c
Michotte.


d
DeLoache.


e
Zelazo.


10
In an experimental design, the behavior being measured is the:


a
Independent variable.


b
Dependent variable.


c
Control.


d
Causal factor.


e
Method.


11
Which of the following criteria would not be included in a test of infant development (under 2 years)?


a
Can the infant stand alone?


b
Can the infant build a tower of five bricks?


c
Can the infant find an occluded object?


d
Can the infant state why 2 or 3 words are similar in meaning?


e
Can the infant crawl?


12
Which correlation coefficient indicates that two variables are entirely unrelated?


a
+1.0.


b
+0.5.


c
0.


d
–0.5.


e
–1.0.

13
An example of a concurrent correlational study is a measurement of the relationship between:


a
Problem-solving at 9 months and IQ at 3 years.


b
The sensitivity of the mother at birth and the attachment behavior of the infant at 2 years.


c
Infant temperament at 2 months and attachment behavior at 2 years.


d
English and math ability at 11 years of age.


e
Infant posture at 8 months, and the age at which infants begin to crawl.


14
A good way of graphing a correlation is:


a
A horizontal bar chart.


b
A vertical bar chart.


c
A histogram.


d
A scattergram.


e
A box plot.


15
A reason for choosing an observational method rather than an experiment is:


a
Experiments often lack ecological validity.


b
Experiments cannot test hypotheses.


c
Experiments cannot control extraneous variables.


d
Experiments do not provide a quantitative measure of behavior.


e
Experiments must have a control group.


16
“Testable suppositions about the nature of reality” are:


a
Theories of relativity.


b
Hypotheses.


c
Inventions.


d
Scientific proof.


e
IQ tests.


17
Which of the following is an example of an ability that decreases with age?


a
Reaching precision.


b
Intelligence.


c
Phonemic discrimination.


d
Speech production.


e
Mathematical skill.


18
“The auditory localization response diminishes or disappears at around 6 weeks of age, and reappears again at around 4 months of age.”  This is an example of:


a
A decreasing continuous function.


b
An increasing continuous function.


c
A U-shaped function.


d
A discontinuous function.


e
An inverted U-shaped function.

19
Why might cross-sectional and longitudinal studies of intellectual development yield different developmental functions?


a
Due to experimenter bias.


b
Due to the discontinuous nature of longitudinal experiments.


c
Due to the unecological nature of longitudinal experiments.


d
Due to the small sample size in cross-sectional experiments.


e
Due to cohort differences in cultural experiences.


20
What does IQ stand for?


a
Intelligence Quality.


b
Intelligence Quantity.


c
Intelligence Quotient.


d
Intelligence Quiz.


e
Intelligence and Quickness.

CHAPTER 2 
Theories and Issues in Child Development.


1
Which of the following might be the focus of a “major” theory, as opposed to a “minor” theory?


a
Eye-movement development.


b
Cognitive development.


c
Object permanence development.


d
Development of the pincer grasp.


e
Spelling development.


2
What kind of theory of motor development did Gesell subscribe to?


a
Dynamic systems.


b
Natural.


c
Static systems.


d
Maturational.


e
Ecological.


3
The progression of motor development from head to foot along the length of the body is termed:


a
Proximodistal.


b
Distoproximal.


c
Headofootal.


d
Cephalocaudal.


e
Corticometatarsal.


4
Dynamic systems theory considers motor development to be the result of a dynamic and continual interaction of:


a
Three different types of microgenetic organisms.


b
(i) Nervous system development and (ii) the physical capabilities of the body.


c
(i) Nervous system development and (ii) environmental constraints and support.


d
(i) Nervous system development, (ii) the physical capabilities of the body, and (iii) environmental constraints and support.


e
(i) Nervous system development and (ii) the temperament of the infant.


5
Which of the following terms best describes the processes of assimilation and accommodation which Piaget suggested were responsible for the adaptation of cognitive schemas in development?


a
Functional variants.


b
Functional invariants.


c
Invariant schemas.


d
Variant schemas.


e
Heuristic perceptrons.

6

Which of Piaget’s stages of development is situated in adolescence?


a
Formal operations.


b
Special operations.


c
Preoperational period.


d
Sensorimotor period.


e
Concrete operations.


7
What does the term “animistic thinking” mean?


a
Lively and fast mental processes.


b
Negative thoughts about somebody else.


c
Attribution of lifelike qualities to objects.


d
Logical thought processes.


e
Difficulty with seeing things from another perspective.


8
At which of Piaget’s stages do children first learn to conserve number?


a
Formal operations.


b
Special operations.


c
Preoperational period.


d
Sensorimotor period.


e
Concrete operations.


9
Who was the first person to provide a summary of Piaget’s theory in English?


a
Skinner.


b
Flavell.


c
Thelen.


d
Bowlby.


e
Lorenz.


10
Which theoretical approach uses computers to simulate neural networks?


a
Psychodynamics.


b
Constructivism.


c
Deconstructivism.


d
Dynamical systems.


e
Connectionism.


11
Which of these most accurately defines the “zone of proximal development”?


a
Problems and ideas well within the child’s ability to understand independently.


b
Learning in the company of peers.


c
The worst place for children to develop understanding of a given problem or idea.


d
Problems and ideas that the child has only recently mastered and can now understand independently.


e
Problems and ideas of sufficient difficulty for the child to prevent independent understanding.

12
Which of the following terms defines learning that does not involve observable behavioral reinforcement?


a
Classical conditioning.


b
Operant conditioning.


c
Observational learning.


d
Neoclassical conditioning.


e
Neo-gothic conditioning.


13
Albert Bandura is responsible for:


a
Social connectionism.


b
Social learning theory.


c
Ethological learning theory.


d
Sociogenetic theory.


e
Genetic learning theory.

14
Who were John Bowlby and Mary Ainsworth?


a
The first connectionist modelers.


b
Social learning theorists.


c
The parents of Bowlby the British psychoanalyst.


d
The zoologists who laid the foundations of the ethological approach to development.


e
Attachment theorists.

15
According to Bowlby, the need for attachment is:


a
A primary drive.


b
A secondary drive.


c
A tertiary drive.


d
A result of the need for sustenance.


e
An artifact of the strange situation.

16
Which of the following Freudian personality structures is most analogous to a conscience?


a
Id.


b
Egid.


c
Superid.


d
Ego.


e
Superego.

17
At which of Freud’s psychosexual stages does the Oedipus complex take place?


a
Oral.


b
Anal.


c
Phallic.


d
Latency.


e
Genital.

18
Who was the leading proponent of humanistic theory?


a
Sigmund Freud.


b
Anna Freud.


c
Abraham Maslow.


d
Erik Erikson.


e
Lawrence Kohlberg.

19
In humanistic theory, self-actualization is defined as:


a
The desire to fulfill sexual needs.


b
The inner need or desire to fulfill others’ expectations of oneself.


c
The desire of others to match their potentials with one’s own.


d
The inner need or desire to fulfill one’s potential.


e
The need to be alone with one’s thoughts.

20
Which of the following theoretical positions sees gender development as the child being reinforced for what others see as gender-appropriate behavior?


a
Psychoanalytic.


b
Biological determinant.


c
Social learning.


d
Operant conditioning.


e
Cognitive.

Chapter 3 
The Nature–Nurture Issue


1
Which of the following would not be used to explain differences in cognitive abilities between people?


a
Nourishment.


b
Nerve conduction velocity.


c
Manual dexterity.


d
Motivation.


e
Schooling.


2
What is the term used to refer to the variation of human traits within a population?


a
Schizophrenia.


b
Academic performance.


c
IQ.


d
Individual differences.


e
Motivation.


3
Which of the following scientific fields does not conduct investigation into sources of variability in behavior traits?


a
Developmental psychology.


b
Occupational psychology.


c
Molecular genetics.


d
Psychiatric genetics.


e
Differential psychology.


4
Which of the following scientists defined the nature–nurture debate as a calculation of the relative contributions of heredity and the environment?


a
Helmholtz.


b
Likert.


c
Galton.


d
Thurstone.


e
Hering.


5
Which of the following is an accurate definition of an individual’s cognitive genotype?


a
An unobservable, latent characteristic that manifests itself in the cognitive phenotype.


b
An observable, measurable characteristic, determined in part by the cognitive phenotype.


c
An observable, unmeasurable characteristic that manifests itself in the schizotype.


d
An unobservable, latent characteristic, determined entirely by the cognitive phenotype.


e
An observable, measurable characteristic, determined entirely by the phenotype.

6

What are the assumptions made when using the covariance of traits in monozygotic and dizygotic twins (reared together) to determine the components of phenotypic variance?


a
Twins share the same environment, and dizygotic twins share 100% of their genes while monozygotic twins share 50%.


b
Twins are subjected to different environments, and dizygotic twins share 100% of their genes while monozygotic twins share 50%.


c
Twins are subjected to different environments, and both dizygotic and monozygotic twins share 50% of their genes.


d
Twins share the same environment, and dizygotic twins share 50% of their genes while monozygotic twins share 100%.


e
Twins are subjected to different environments, and dizygotic twins share 50% of their genes while monozygotic twins share 100%.


7
Which of the following is the name given to the single copy of a gene pair inherited from one parent?


a
Chromosome.


b
Protein.


c
Allele.


d
DNA.


e
Template.


8
What is epistasis?


a
Interactions within a gene.


b
Interactions between genes.


c
Interactions between chromosomes.


d
Allele dominance.


e
Interactions of nuclei within cells.


9
Which of the following is an example of a nonshared environmental effect?


a
Prenatal influenza.


b
Low socioeconomic status.


c
Parenting style.


d
Climate.


e
Noisy neighbors.

10
According to Scarr and McCartney’s (1983) hypothesis, how does the importance of the different types of gene–environment correlation change over the course of development?


a
Weak increases, evocative remains the same, strong decreases.


b
Strong increases, evocative remains the same, weak decreases.


c
Passive increases, strong increases, weak decreases, active decreases.


d
Active increases, evocative remains the same, passive decreases.


e
Passive increases, evocative remains the same, active decreases.

11
The ways in which people respond to children are influenced by the children’s own, genetically determined, characteristics. This is an example of which sort of gene–environment correlation?


a
Neutral.


b
Negative.


c
Evocative.


d
Passive.


e
Active.

12
From the following, choose the best definition of heritability.


a
An estimate of the variation of a trait in a population, accountable for by genetic differences in members of that population.


b
An estimate of the mean score for a trait in a population, given a particular genetic inheritance.


c
An estimate of the mean score for a trait in a population, given particular environmental constraints.


d
An estimate of the variation of a trait in an individual, given particular environmental constraints.


e
An estimate of the variation of a trait in a population, given particular environmental constraints.

13
Why are different genetic mechanisms thought to be involved in the manifestation of IQ variation at either pole of the spectrum of ability?


a
High- and low-ability participants belong to different socioeconomic groups.


b
Differences in IQ heritability decrease as the sample increases in age.


c
Differences in IQ heritability increase as the sample increases in age.


d
IQ individual differences disappear as the sample increases in age.


e
There is a difference in the heritability of IQ between high- and low-ability subjects.

14
How does the heritability of intelligence vary across the life span?


a
It remains constant at 60%.


b
Early childhood – 80%, early adulthood – 60%, later life – 40%.


c
Early childhood – 40%, early adulthood – 80%, later life – 60%.


d
Early childhood – 40%, early adulthood – 60%, later life – 80%.


e
Early childhood – 80%, later life – 10%.

15
Chipuer, Rovine, and Plomin’s (1990) model-fitting global analysis of family, twin, and adoption studies provides an estimate of heritability that is:


a
23–24%.


b
40–41%.


c
50–51%.


d
76–77%.


e
95–96%.

16
Why are the findings of behavior-genetic studies concerning intelligence limited in their generalizability?


a
Most of the data have come from predominantly black, working-class, African populations.


b
Most of the data have come from samples of individuals between 9 and 20 years of age.


c
Most of the data have come from predominantly white, upper-class, African populations.


d
The data have been collected across too wide a spectrum of socioeconomic backgrounds.


e
Most of the data have come from samples of individuals between 60 and 70 years of age.

17
Who was the first investigator to assess the heritability of specific cognitive abilities?


a
Thurstone.


b
Guilford.


c
Piaget.


d
Plomin.


e
Vandenberg.

18
Which of the following sums up Horn’s (1988) findings concerning fluid and crystallized abilities?


a
Crystallized ability – 60% heritable, fluid ability – 20% heritable.


b
Crystallized ability – 10% heritable, fluid ability – 60% heritable.


c
Crystallized and fluid ability – 20% heritable.


d
Crystallized ability – 0% heritable, fluid ability – 90% heritable.


e
Crystallized and fluid ability – 60% heritable.

19
What were the four groups of specific cognitive factors revealed in the Hawaii Family Study of Cognition?


a
Verbal, spatial, perceptual speed, and visual memory.


b
Numerical, language, perceptual speed, and visual memory.


c
Verbal, numerical, perceptual speed, and motor manipulation.


d
Spatial, language, motor manipulation, and social.


e
Verbal, perceptual speed, visual memory, and social.

20
What is the significance of the finding that nonshared environmental influences have lasting effects on cognitive abilities throughout childhood?


a
It demonstrates the strength of the genetic role in cognitive abilities.


b
It indicates that environmental factors have an important effect on cognitive abilities at the time of their emergence.


c
It indicates that siblings should be raised together.


d
It indicates that siblings should be raised apart.


e
It has prompted an etiological explanation of schizophrenia implicating environmental factors experienced in early childhood.

Chapter 4 

Prenatal Development.

1
Which of the following sensory modalities has no significant input prior to birth?


a
Vision.


b
Hearing.


c
Chemosensory.


d
Touch.


e
Vestibular.


2
In which part of the nervous system do the cerebral hemispheres reside?


a
The hindbrain.


b
The midbrain.


c
The forebrain.


d
The spinal cord.


e
The peripheral nervous system.


3
Which of the following is a function of the hindbrain?


a
Breathing control.


b
Blinking reflexes.


c
Language.


d
Memory.


e
Conscious thought.


4
The development of which process allows the brain to modify action rather than simply cause it?


a
Excitation.


b
Inhibition.


c
Memory.


d
Mental imagery.


e
Neural migration.


5
What term is given to “the formation of a fatty insulator around nerve fibers”?


a
Synaptogenesis.


b
Synaptoexodus.


c
Myelination.


d
Myoinsulation.


e
Ranviation.


6
Which of the following areas of cerebral cortex is thought to be concerned with hearing?


a
The frontal lobe.


b
The occipital lobe.


c
The parietal lobe.


d
The association areas.


e
The temporal lobe.

7

Which constituent of urine may be important in stimulating the chemosensory system before birth?


a
Urea.


b
Water.


c
Ammonia.


d
Bilirubin.


e
Ureaic acid.

8

What sensory system is most likely to be responsible for most babies lying head down before delivery?


a
Visual.


b
Auditory.


c
Chemosensory.


d
Touch.


e
Vestibular.

9

Why might a dark environment be supposed to be necessary for prenatal visual development?


a
Premature infant experience with ambient light is associated with subtle visual deficits.


b
Newborn infant experience with ambient light is associated with subtle visual deficits.


c
Experience of the prenatal mother with ambient light is associated with subtle visual deficits in the child.


d
All of vision is innate.


e
Because light produces too much stress in the infant.

10
Which of the following develops first in the fetal eye?


a
Eye movements.


b
Eye muscles.


c
Cornea.


d
Lens.


e
Retina.

11
What is the first stage in the visual system where color and fine detail are topologically separated from gross form and motion?


a
The retina.


b
The left eye.


c
The primary visual cortex.


d
The lateral geniculate nucleus.


e
The hypothalamus.

12
How many bones are there in the mature middle ear?


a
1.


b
2.


c
3.


d
4.


e
5.

13
What are Borborygmi?


a
A tribe of small people in North Africa, who are thought to be born prematurely as a group.


b
The sounds of the mother’s voice in the uterus.


c
The gastrointestinal sounds in the uterus.


d
The sounds of irregular heartbeats in the uterus.


e
The irregular heartbeats measured in premature babies.

14
What term is given to sensory learning that is carried forward into the newborn period?


a
Perinatal learning.


b
Prenatal learning.


c
Postnatal learning.


d
Transnatal learning.


e
Intranatal learning.

15
Which technique did DeCasper and Fifer (1980) employ to examine whether newborn infants prefer familiar or unfamiliar voices?


a
Serial habituation–dishabituation.


b
Fixed-trial familiarization.


c
Visual preference.


d
Non-nutritive sucking.


e
Conditioned head-turn response.

16
What percentage of perinatal complications are thought to have their origins in genetic factors alone?


a
10–15%.


b
20–25%.


c
30–35%.


d
40–45%.


e
50–55%.

17
Which of the following is not an autosomal genetic disorder?


a
Sickle-cell disease.


b
Cystic fibrosis.


c
Huntingdon’s disease.


d
Down’s syndrome.


e
Marfan syndrome.

18
Which of the following is associated with higher birthweight?


a
Infant risk for future breast cancer.


b
Infant risk for future cardiovascular disease.


c
Infant risk for future schizophrenia.


d
Infant risk for future antisocial personality disorder.


e
Infant risk for future mortality.

19
Which of the following fetal reflexes has little if any obvious significance in later life?


a
Breathing.


b
Rooting.


c
Sucking.


d
Swallowing.


e
Toe-curling.

20
According to DiPietro et al. (1996), how much of the variance of infant temperament can be accounted for by indices of fetal neurobehavior?


a
20%.


b
30%.


c
40%.


d
50%.


e
60%.

Chapter 5 

Perception, Knowledge, and Action in Infancy.


1
How much greater is adult visual acuity than that of the newborn child?


a
The same.


b
2 times.


c
4 times.


d
10 times.


e
30 times.


2
Which technique shows that young infants can discriminate between visual stimuli independently of their memory?


a
Habituation.


b
Familiarization.


c
Visual preference.


d
Conditioned head-turn response.


e
Manual search.


3
At what age did Slater, Mattock, Brown, and Bremner (1991) demonstrate that infants can discriminate on the basis of angular relations?


a
Shortly after birth.


b
2 months.


c
4 months.


d
6 months.


e
8 months.


4
Which of these perceptual principles leads to the perception of a constant form, whatever the angle an object is viewed from?


a
Size constancy.


b
Speed constancy.


c
Depth constancy.


d
Shape constancy.


e
Angular constancy.


5
Attention to which of the following would not help us perceive an object’s constant size?


a
The actual size of the object.


b
The shape of the object.


c
The object we are looking at.


d
The size of the object on the retinal image.


e
The size of the object relative to other objects.


6
In Kellman and Spelke’s (1983) experiments on “object unity,” which experimental manipulation had to be fulfilled if a 4-month-old were to perceive a partially occluded object as a whole?


a
A large occluder.


b
A small occluded object.


c
Common motion of the occluded object.


d
Short habituation.


e. 
No habituation.

7

At what age did Ghim (1990) demonstrate that infants have the ability to perceive subjective contours?


a
Shortly after birth.


b
1 month.


c
3 months.


d
6 months.


e
10 months.

8

Which of the following factors would be controlled in infant face discrimination tests?


a
Hair color.


b
Facial expression.


c
Size of faces.


d
Skin color.


e
All of these.

9

What is obtained by using a computer to average a set of faces?


a
An atypical face.


b
A prototypical face.


c
A thin face.


d
An unattractive face.


e
A very large face.

10
Meltzoff and Moore (1977) showed that infants will imitate facial gestures early in infancy. This finding has important implications for:


a
Young infants’ ability to perceive faces.


b
Young infants’ early temperament.


c
Young infants’ levels of arousal.


d
IQ in later life.


e
Personality in later life.

11
Which of the following species has been used to show that some animals can make similar speech sound discriminations to human infants?


a
Goldfish.


b
Grasshoppers.


c
Cochineal insects.


d
Blue whales.


e
Chinchilla rabbits.

12
What is the name given to the form of speech which parents use to speak to infants, in which the intonation patterns are exaggerated?


a
Parento.


b
Infantese.


c
Esperanto.


d
Motherese.


e
Exaggerato.

13
Which of the following is the theoretical position which best fits Piaget’s account of development?


a
Nativism.


b
Empiricism.


c
Constructivism.


d
Social learning.


e
Behaviorism.

14
Piaget showed that infants will demonstrate the A-not-B error when searching for a hidden object. His explanation for this error was that infants link the object’s existence to:


a
The place on the left.


b
Antimatter.


c
The experimenter’s trickery.


d
Their own action in retrieving the object.


e
Several places in space.

15
What name is given to the hypothetical innate structure that is thought by Spelke, Baillargeon, and others to enable very young infants to reason about impossible events?


a
Peripheral knowledge.


b
Core knowledge.


c
Impossibility knowledge.


d
Possibility knowledge.


e
Knowledge about space.

16
What is the ability to perceive directly a small number of items without counting, or carrying out any calculation?


a
Subtracting.


b
Subitizing.


c
Solving.


d
Debitizing.


e
Perceptizing.

17
Which of these suggests that response perseveration cannot explain the A-not-B error entirely?


a
More prior reaches to the A location increases the number of errors.


b
Infants make errors if they have only seen the object hidden at A but never reached for it.


c
Infants make fewer errors when the object that is hidden is food.


d
Older infants make fewer errors.


e
Younger infants make fewer errors.

18
Which part of the brain is implicated in executive function, and thus success or failure at the A-not-B task?


a
The frontal lobe.


b
The cerebellum.


c
The temporal lobe.


d
The occipital lobe.


e
The hippocampus.

19
Who argues that infants fail the A-not-B task because they are unable to use their current memory for the hidden object to inhibit the old response to the A location?


a
Piaget.


b
Butterworth.


c
Harris.


d
Bremner.


e
Diamond.

20
 Bremner suggests that Piaget’s account of infant development should be modified by:


a
Taking the emphasis away from the role of action in development.


b
Rejecting the possibility of young infants possessing early knowledge.


c
Embracing empiricism.


d
Considering development as the formation of links between knowledge and action.


e
Realizing that even adults do not have object permanence.

Chapter 6
Emotional Development and Early Attachment Relationships

1
Who argued that the ability to communicate through facial expressions is innate?


a
Darwin.


b
Piaget.


c
Hering.


d
Harris.


e
Vygotsky.


2
Ekman and Friesen (1971) studied cross-cultural understanding of facial expression. Which of these emotions did the Fore of New Guinea find hard to identify in photographs of westerners?


a
Happiness.


b
Disgust.


c
Anger.


d
Sadness.


e
Surprise.


3
What is used to find if an infant has developed a self-concept?


a
The AB task.


b
The conservation task.


c
The pendulum task.


d
The rouge test.


e. 
The false belief task.


4
At what age do Murray and Trevarthen report that infants are sensitive to the appropriateness of timing of their mothers’ expressions?


a
2 months.


b
6 months.


c
9 months.


d
12 months.


e
15 months.


5
At what age do children first begin to use emotion words to comment on their own or others’ behavior?


a
10 months.


b
16 months.


c
22 months.


d
28 months.


e
34 months.


6
Other than early understanding of emotion, which of the following is an explanation of young children’s use of emotion words?


a
Innate recognition of facial expression.


b
Script knowledge.


c
The pervasive use of emotion words by adults.


d
Operant conditioning.


e
Classical conditioning.

7

Harris (1983) found an age-related shift, between 6 and 10 years, in children’s understanding of:


a
Surprise.


b
Disgust.


c
Facial expression.


d
Hidden emotions.


e
Emotion conflict.

8

A parent explaining to a child that some emotional expression is undesirable could help children to understand:


a
Surprise.


b
Love.


c
Hidden emotion.


d
Facial expression.


e
Unintentional emotion.

9

Children have difficulties in understanding that individual people may feel different emotions in a given situation. We can infer that this is not due to a general cognitive limitation because children are able to:


a
Reason about unequivocal situations.


b
Reason about equivocal situations.


c
Entertain multiple possibilities in emotional equivocal situations.


d
Entertain multiple possibilities in nonemotional equivocal situations


e
Reason about intention.

10
What term is used to denote a child’s inability to represent other people’s perspectives on the world?


a
Egocentrism.


b
Unintentionalism.


c
Desire.


d
Ego attachment.


e
Selfishness.

11
Which is best known for his theory of attachment?


a
Freud.


b
Piaget.


c
Bowlby.


d
Lorenz.


e
Perner.


12
How long does the preattachment phase last?


a
0–1 month.


b
0–2 months.


c
0–3 months.


d
0–5 months.


e
0–7 months.

13
What is suggested to be the reason for infants’ failure to demonstrate attachment behavior on separation until after 7 months?


a
They have no object permanence.


b
They cannot recognize their caregiver.


c
They have not learnt to divine emotion from facial expression.


d
They do not feel afraid.


e
Caregivers seldom leave their babies before this age.

14
Which procedure was used first by Ainsworth in her study of attachment behavior?


a
The AB task.


b
The rouge test.


c
The strange situation.


d
The familiar situation.


e
The noir test.


15
Which of these is not an index of infant behavior used to categorize infants in terms of attachment?


a
Proximity seeking.


b
Contact maintenance.


c
Resistance.


d
Vocal expression.


e
Avoidance.

16
What proportion of samples of British and American infants are securely attached?


a
1/5.


b
1/4.


c
2/7.


d
1/3.


e
2/3.

17
In which of these countries do we find the largest representation of insecure-avoidant infants?


a
Papua New Guinea.


b
USA.


c
Germany.


d
Japan.


e
Israel.

18
Emotional development can be viewed as an interaction between direct experience of emotion within attachment relationships, and detached understanding of characters’ emotions. Who proposed this interaction?


a
Ainsworth.


b
Belsky.


c
Harris.


d
Piaget.


e
Bowlby.

19
Bowlby suggested that children form cognitive structures incorporating representations of themselves, their caregivers, and their relationships with others. What term did he use to refer to these structures?


a
External working models.


b
Internal working models.


c
Interactive working models.


d
Emotional working models.


e
Early working models.

20
Insecurely attached children have greater personal experience of nonoptimal emotional relationships. Thus, they might be better equipped to understand more complex emotional situations such as:


a
Interpersonal affection.


b
Surprise.


c
Expression of desire.


d
Lying about emotion.


e
Expression of personal tastes.

Chapter 7 
Social Interaction and the Beginnings of Communication

1
Which faculties are all directly affected by early social interactions?


a
Language, attachment, cognitive achievements, emotional regulation.


b
Language, attachment, auditory perception, emotional regulation.


c
Language, auditory perception, emotional regulation, visual perception.


d
Visual perception, attachment, cognitive achievements, emotional regulation.


e
Language, attachment, emotional regulation, visual perception.


2
Which of these social phenomena appears earliest in life?


a
Symbolic communication with others.


b
Turn-taking during vocal exchanges between mother and infant.


c
Responsiveness during mutual gazing between mother and infant.


d
Turn-taking during feeding encounters.


e
 Social referencing.


3
Why has it been suggested that 1-month-old infants cannot see faces as faces?


a
They do not inspect faces for a very long period of time.


b
They fixate on several features whilst inspecting faces.


c
They display no preference between stationary and moving faces.


d
They do not show any preference for a parent’s face above any other.


e
They tend to scan the external boundaries of faces.


4
Using the visual preference technique, at what age does the ability to distinguish between different shapes appear?


a
Soon after birth.


b
1 month.


c
2 months.


d
3 months.


e
4 months.


5
DeCasper and Fifer (1980) have presented evidence suggesting that newborns can discriminate their mother’s voice from that of others. How is this ability thought to arise?


a
Newborns can call on innate “core knowledge” concerning their mother’s voice.


b
Newborns listen to the first voice that they hear and this is used as a template from which to discriminate all other voices.


c
Newborns are not actually discriminating voices, but distinguish between the faces from which these voices emerge.


d
Newborns have mature auditory systems which they use to discriminate between voices.


e
The newborn has already learned his/her mother’s voice before birth.

6

Which most accurately describes the dynamics of face-to-face encounters between a mother and her 2-month-old infant?


a
The infant provides interest and stimulation, and the mother responds by engaging in interaction.


b
At this age face-to-face encounters between parent and infant are brief in duration and usually initiated by the parent.


c
The mother gains the attention of the infant, and when the infant responds she provides stimulation until the infant turns away.


d
The only sign of visual interaction on the infant’s part is in a preference for looking at the mother’s face.


e
The infant initiates interactions, and the mother adjusts the stimulation that she provides depending on the focus of the infant’s attention.

7

What is indicated by an increase in the infant’s rate of gaze-on/gaze-off cycles, during visual contact with an adult?


a
The widening scope of the infant’s attention.


b
Autism.


c
The infant’s ability to modulate the level of stimulation provided by the adult.


d
The infant’s increasing lack of interest in the interaction.


e
An increase in the infant’s overall level of arousal.

8

Which is the best explanation for infants’ disturbed reactions in “still face” experiments?


a
The infant’s level of arousal has fallen.


b
The infant cannot divine the emotional state of his/her parent.


c
The infant has failed to recognize his/her parent.


d
The infant’s level of arousal has risen.


e
The infant assumes that the parent is distressed.

9

The pointing gestures of children under 2 years old are thought not to be communicative acts because:


a
They do not point to any specific object or person.


b
They do not point to objects of any particular interest to themselves or others.


c
They only point to objects that they desire such as food and toys.


d
They attend only to the object that they are indicating and not to the adult.


e
Their pointing gestures are erratic flinging movements executed for only a brief time.

10
For what reason is joint attention thought to be an early indication of “theory of mind”?


a
By identifying someone else’s focus of attention the infant recognizes that person as an independent intentional being.


b
Specific “theory of mind” skills appear only two or three years after joint attention.


c
Joint attention interaction closely resembles “theory of mind” tasks.


d
In joint attention, as in “theory of mind” tasks, children are dependent on their own point of view.


e
Chimpanzees also develop joint attention and “theory of mind” in the same order.

11
Which of these does not rely on the extent to which an infant understands object permanence?


a
The change of infants’ social interactions into enduring social relationships.


b
The development of motor skill.


c
The development of wariness toward strangers.


d
An ability to search for hidden objects.


e
The formation of attachments with other people.

12
What describes “social referencing”?


a
A mother teaches her child by example to respond to new events.


b
A mother calls to her infant in order to prevent him from approaching danger too closely.


c
A mother soothes her infant after a new event has frightened him.


d
An infant seeks cues from his mother’s expression, in order to guide his response to a novel situation.


e
A child’s mother demonstrates to other adults how best to interact with her child. 

13
Who is well known for their description of the development of symbolic thought?


a
Bryant.


b
Bremner.


c
Baron-Cohen.


d
Piaget.


e
Butterworth.

14
Why are children’s first words generally thought not to be used as symbolic representations?


a
The first words that children use are generated for their own purposes rather than to convey meaning to another person.


b
These first words are usually nonsense words.


c
The first words that children use are not used as a grammatical constituent of a sentence.


d
Children’s first words are produced only when they are involved in imaginary play.


e
Children’s first words appear at first only in the context of a request for food, or attention.

15
Which of these is not an example of symbolic capacity?


a
Pretending that a doll is a baby.


b
Pretending that someone is listening at the end of a toy telephone.


c
Searching successfully for a hidden object.


d
Talking about an apple in its absence.


e
Telling someone else to look at an object that the child has just seen.

16
“Motherese” is best described as:


a
A language used exclusively by a child and his mother.


b
A way of grammatically simplifying language so that infants without a capacity for symbolic thought can understand some words.


c
The mother’s use of higher speaking pitch so that the immature auditory system of the infant can hear the words.


d
The automatic way in which the mother makes speech to her child simpler, briefer, and more repetitive.


e
A method of language presentation which teaches grammar to infants.

17
The Kaluli of New Guinea do not use “motherese” because:


a
They believe that babies have no understanding.


b
Fathers bring up their children in the Kaluli culture.


c
They think that it hinders language acquisition.


d
The language that the Kaluli use is not symbolic.


e
They have not realized that it is a successful way of priming language acquisition.

18
Why are the first adult–child conversations said to be asymmetrical?


a
The complexity of the adult’s input is not matched by that of the child.


b
The adult generally sets the topic for conversation.


c
The child generally sets the topic for conversation.


d
The child generally talks for longer than the adult.


e
The subject of conversation is always the child.

19
Which of the following best describes the onset of autism?


a
It develops in the 1st year after birth.


b
It develops in the 2nd year after birth.


c
It develops under adverse life conditions in children up to the age of 15.


d
It develops around 4 years of age when “theory of mind” develops in normal children.


e
It is inherent in the child’s makeup and present from birth.

20
Which of the following is not vital if a social interaction is to be successful?


a
Intrapersonal coordination.


b
Interpersonal coordination.


c
An intact auditory system.


d
At least two participants.


e
A method of communication.

Chapter 8
Cognitive Development in Childhood


1
In which of Piaget’s stages of logical development do children attend more to the states of objects than to their transformations?


a
Preoperational.


b
Sensorimotor operational.


c
Concrete operational.


d
Informal operational.


e
Formal operational.


2
At what approximate age do children enter the concrete operations period?


a
18 months.


b
2 years.


c
4 years.


d
7 years.


e
11 years.


3
Which of the following has been suggested to be lacking in Piaget’s account of development?


a
Changes in conversational awareness.


b
The development of spatial understanding.


c
The role of manual activity.


d
The development of symbolic knowledge.


e
The role of peer interaction.


4
Who first established that young children have difficulty distinguishing appearance from reality?


a
E. J. Gibson.


b
Piaget.


c
DeLoache.


d
Bryant.


e
Flavell.


5
What do DeLoache and colleagues contend to be the reason behind young children’s failure at “symbolic” tasks?


a
Failure to understand the questions put to them.


b
Inability to hold a single representation.


c
Inability to hold a dual representation.


d
Poor visual acuity.


e
Distraction by task materials.


6
Nonconserving children lack a concept of:


a
Valencies.


b
Invariance.


c
Variance.


d
Specific nerve energies.


e
Interference.

7

What name was given by Piaget to the “gap” between the attainment of the same logical skills in different areas or domains?


a
Reversible décalage.


b
Inverse décalage.


c
Horizontal décalage.


d
Vertical décalage.


e
Lateral décalage.


8
Who showed that 3-year-olds could conserve number, if their attention was directed very carefully to the number of counters?


a
Bryant.


b
Piaget.


c
Donaldson.


d
Gelman.


e
Wynn.

9

Empirical research, mostly from the 1970s, has suggested that the age at which children can be said to be conservers should be lowered. However, this research itself has been criticized:


a
For the presence of experimenter bias.


b
For yielding false negative results.


c
For yielding false positive results.


d
For yielding true positive results.


e
For yielding true negative results.

10
Which of these studies examined the role of conversational awareness in children’s conservation errors, by reducing the number of questions asked in the standard paradigm to just one?


a
Rose and Blank.


b
McGarrigle and Donaldson.


c
Bryant and Trabasso.


d
Light, Buckingham, and Robins.


e
Siegal, Waters, and Dinwiddy.

11
Class inclusion tasks measure the ability to:


a
Understand the logical relationship between nominal and superset classes.


b
Understand the logical relationship between superordinate and subset classes.


c
Integrate into the social environment of the classroom.


d
Integrate others into the social environment of the classroom.


e
Distinguish between different social classes.

12
Below what age did Piaget, Inhelder, and Szeminska (1960) claim that children cannot make transitive inferences?


a
18 months.


b
2 years.


c
5 years.


d
7 years.


e
11 years.

13
Which of these is not a transitive inference?


a
A< (is less than) B, and B<C, therefore A<C.


b
A=B, and B=C, therefore A=C.


c
C<A, and B<A, therefore C<B.


d
C<B, and B<A, therefore C<A.


e
A<B, and B<D, therefore A<D.

14
At what age do Bryant and Trabasso (1971) and Pears and Bryant (1990) claim to demonstrate that children can make transitive inferences?


a
4 years.


b
5 years.


c
6 years.


d
7 years.


e
8 years.

15
Fill in the blank: “Rather than logical necessity, young children may be using ____________ to solve Bryant and Trabasso’s (1971) and Pears and Bryant’s (1990) tasks.”


a
Spatial necessity.


b
Linguistic labels.


c
Logical representations.


d
A guessing strategy.


e
Spatial representations.

16
Through what research area is egocentrism in young children usually addressed more recently?


a
Object permanence.


b
Spatial cognition.


c
Bullying in school.


d
Attachment.


e
Theory of mind.

17
What term did Piaget apply to children’s changing of preexisting schemas in order to cope with new problems?


a
Egocentrism.


b
Decentration.


c
Equalization.


d
Assimilation.


e
Accommodation.

18
Which theoretical approach to development, as outlined by Case (1985), is often labeled as “neo-Piagetian”?


a
Dynamic systems.


b
Linguistic awareness.


c
Social learning.


d
Connectionist modeling.


e
Information processing.

19
In which area of the brain did Thatcher demonstrate an increase in the coherence of neuronal activity between 4 and 5 years?


a
Left hemisphere.


b
Right hemisphere.


c
Frontal lobe.


d
Occipital lobe.


e
Parietal lobe.

20
Which of the following most accurately describes the effect of culture on development?


a
Domain-general.


b
Domain-specific.


c
Domain-possessive.


d
Minimal.


e
Only effective when explicitly taught.

CHAPTER 9
The Development of Language

1
In language, symbols are “arbitrary” because:


a
There is no necessary relation between sound and meaning.


b
There is a necessary relation between sound and articulation.


c
There is a necessary relation between sound and phoneme clusters.


d
There is no necessary relation between sound and articulation.


e
There is a necessary relation between sound and meaning.


2
The finite number of rules of grammar, and the finite number of linguistic units in human language, allow the speaker to represent an infinite number of grammatical utterances. Thus language is defined as being:


a
Subtractive.


b
Productive.


c
Additive.


d
Uninformative.


e
Loosely related to meaning.


3
Which of the following refers to the early interactions of mother and child, in which the prelinguistic infant vocalizes and the mother responds?


a
Epiconversations.


b
Protoconversations.


c
Endoconversations.


d
Preconversational conversations.


e
Recurrent conversations.


4
When an infant uses pointing or looking, purely to direct an adult’s attention toward an object, this is termed as a:


a
Proto-imperative.


b
Proto-orientation.


c
Proto-attentive.


d
Protodeclarative.


e
Proto-association.


5
How many turns is the average 2-year-old capable of taking in a conversation?


a
1–2.


b
3–4.


c
5–6.


d
7–8.


e
9–10.


6
Which of the following is another name for “infant-directed” speech?


a
Infantese.


b
Inglese.


c
Childese.


d
Antifrese.


e
Motherese.


7
In the first year of life, learning to segment the speech stream into meaningful units may be facilitated by:


a
An increased heart rate during conversation.


b
Reading education.


c
A preference for listening to the human voice.


d
Musical exposure.


e
Sleeping in the middle of the day.


8
The ability of chinchillas to process human speech sounds categorically (Kuhl & Miller, 1975) suggests there is an innate mechanism for processing sounds resting on:


a
Production skills specific to human speech.


b
Production skills specific to chinchilla speech.


c
Auditory processing skills specific to chinchillas.


d
Auditory processing skills specific to humans.


e
General auditory processing skills.


9
At which of the following phases of vocal production do infants first start producing sound combinations which sound like words?


a
Cooing and laughing.


b
Babbling and vocal play.


c
Reflexive vocalizations.


d
Canonical babbling.


e
Modulated babbling.

10
It is rare for babbling to continue in deaf infants past:


a
3 months.


b
5 months.


c
7 months.


d
9 months.


e
11 months.

11
Which system governs the manner in which words and parts of words are related to one another, in order to produce grammatical sentences?


a
The phonological system.


b
The orthographic system.


c
The pragmatic system.


d
The semantic system.


e
The syntactic system.

12
Which of the following most accurately describes children in the one-word period?


a
They can only understand one word.


b
They can only produce one syllable.


c
They can only produce one word and can only understand one word.


d
They can comprehend more than they can produce.


e
They can produce more than they can comprehend.

13
Which of the following demonstrates that a child has begun to use language in a “productive” fashion?


a
The two-word period.


b
The one-word period.


c
Joint visual attention.


d
Babbling.


e
Overregularization errors.

14
How did Chomsky explain the speed with which children acquire syntax?


a
Innate knowledge of s-structure.


b
Innate knowledge of d-structure.


c
Innate knowledge of s- and d-structure.


d
Rapid vocabulary learning.


e
Strict rote learning.

15
According to Newport, Gleitman, and Gleitman (1975), how often do mothers produce ungrammatical sentences when speaking to their young children?


a
< 0.1% of the time.


b
< 1% of the time.


c
< 10% of the time.


d
< 50% of the time.


e
Nearly all of the time.

16
At what age do we know that infants have at least learned the meaning behind the words “Daddy” and “Mommy”?


a
1 month.


b
3 months.


c
6 months.


d
9 months.


e
12 months.

17
The child who has used the word “duck” to refer to birds, airplanes, and hot-air balloons has made:


a
An overextension error.


b
An underextension error.


c
Their first steps into an imaginary world.


d
A syntactical error.


e
A retention error.
18
The assumption that children believe that there is a one-to-one correspondence between words and meanings is known as the:


a
Whole object constraint.


b
Part object constraint.


c
Mutual inclusivity constraint.


d
Mutual exclusivity constraint.


e
Word meaning constraint.

19
Which of the following theoretical stances on language development is the most extreme nativist position?


a
Language acquisition is dependent upon innate capacities and knowledge.


b
Language acquisition is dependent upon innate information-processing predispositions.


c
Language acquisition is dependent upon an innate predisposition to learn.


d
Language acquisition is dependent upon the formation of language-specific concepts, from experience with language.


e
Aspects of language are acquired because of more general cognitive abilities.

20
Who takes the most nativist theoretical stance on language acquisition?


a
Kuczaj.


b
Pinker.


c
Piaget.


d
Barrett.


e
Karmiloff-Smith.

Chapter 10
Acquiring a Theory of Mind


1
Theory of mind research has concentrated on false belief rather than true belief because:


a
False belief is more commonplace in everyday life.


b
False belief tasks distinguish between people working on the basis of others’ rather than their own beliefs.


c
False belief tasks distinguish between people who are more or less adept at lying.


d
False belief tasks show us who has autism.


e
False belief tasks provide the best index of IQ.


2
Around what age do Wimmer and Perner (1983) suggest children develop a representational theory of mind?


a
2 years.


b
4 years.


c
7 years.


d
9 years.


e
11 years.


3
Who suggested that an ability to reflect on someone else’s false belief depends on the power of the imagination to simulate that person’s mind?


a
Mitchell.


b
Gopnik.


c
Perner.


d
Harris.


e
Astington.


4
What name is given to the task in which children have to identify their own prior false belief, after seeing a box of Smarties opened to unexpectedly reveal a pencil?


a
The prior belief test.


b
The deceptive box test.


c
The unexpected transfer test.


d
The state change test.


e
The Smarties test.


5
Tests of false belief may indicate a sudden change in children’s understanding of mind when this is not necessarily the case because:


a
They test imaginary situations.


b
They are only used on children between the ages of 4 and 5.


c
The autistic children in the sample skew the data.


d
They require all-or-none (correct or incorrect) answers.


e
False belief is a limited case of an understanding of mind.


6
Which of the following studies indicates that children’s difficulties in understanding the questions asked in false belief tasks may be a factor influencing their poor performance?


a
Wimmer and Perner (1983).


b
Gopnik and Astington (1988).


c
Lewis and Osborne (1990).


d
Mitchell and Lacohee (1991).


e
Mayes, Klin, Tercyak, Cicchetti, and Cohen (1996).

7

According to Wimmer and Hartl (1991), why do young children answer incorrectly in a deceptive box task, and yet correctly in the state change task?


a
They do not understand the word “think.”


b
The Smarties tube provides a reminder of the answer in the state change task.


c
Deception is discouraged at nursery school.


d
The state change task does not involve “theory of mind.”


e
Their visual acuity is not strong enough to resolve Smarties.

8

In understanding children’s answers in the deceptive box task, at what level do Wimmer and Hartl (1991) suggest we should envisage development?


a
Conversational.


b
Linguistic.


c
Auditory.


d
Visual.


e
Conceptual.

9

How did Mitchell and Lacohee (1991) help children to remember their own previous false belief in a deceptive box test?


a
By making the questions clearer.


b
By not using words linked to an understanding of the mind, such as “think.”


c
By suggesting that there might not be Smarties in the box to start off with.


d
By asking children to post a picture of their first belief, before it was proved false.


e
By producing more than one atypical item from the box.

10
What do Saltmarsh, Mitchell, and Robinson (1995) suggest is the relevant factor in children’s success at belief tasks?


a
Whether the belief has an evidential basis.


b
Whether the belief is false or true.


c
Whether the belief is held by the child, or someone else.


d
Whether the belief is current or prior.


e
Whether the belief is strongly held.


11
If adults can, under certain circumstances, have difficulty with false belief tasks, this suggests that:


a
Theory of mind develops suddenly, as a radical conceptual shift.


b
Theory of mind does not develop with age.


c
Previous studies have sampled very clever children.


d
Theory of mind develops gradually.


e
There is no such thing as theory of mind.

12
What name did Fischhoff (1975) give to adults’ difficulties in acknowledging false belief?


a
Nearsight.


b
Hindsight.


c
Foresight.


d
Oversight.


e
Farsight.

13
How is IQ related to the number of siblings a child has?


a
Number of siblings has no effect on IQ.


b
An only child is more likely to have a higher IQ than a child with several siblings.


c
A child with several siblings is more likely to have a higher IQ than an only child.


d
A child with several siblings is more likely to have a higher IQ than an only child, but only if the siblings are older.


e
A child with several siblings is more likely to have a higher IQ than an only child, but only if the siblings are younger.

14
How is performance in false belief tasks related to the number of siblings a child has?


a
Number of siblings has no effect on performance.


b
An only child is more likely to pass than a child with several siblings.


c
A child with several siblings is more likely to pass than an only child.


d
A child with several siblings is more likely to pass than an only child, but only if the siblings are older.


e
A child with several siblings is more likely to pass than an only child, but only if the siblings are younger.

15
How is theory of mind ability affected by parental input and the number of siblings a child has?


a
The number of siblings a child has is associated with variations in parental input.


b
Parental input is greater as the children get older.


c
The number of siblings a child has, and parental input, both contribute.


d
Number of siblings and parental input have no measurable effect.


e
Number of siblings and parental input both contribute, but only in western cultures.

16
Who characterized autism as a triad of impairments?


a
Leslie.


b
Frith.


c
Baron-Cohen.


d
Gopnik.


e
Wing and Gould.

17
Which of the following did Leslie suggest shares the same kind of mental processing as that needed to understand states of belief?


a
Drawing.


b
Mental arithmetic.


c
Language.


d
Emotional communication.


e
Pretense.

18
In what way did Baron-Cohen, Leslie, and Frith (1985) rule out learning difficulties as being the main problem in autistic children’s understanding of false belief?


a
They selected autistic individuals without learning difficulties.


b
They selected autistic individuals with learning difficulties.


c
They tested a control group of Down’s syndrome children.


d
They tested a control group of blind children.


e
They trained the autistic children first.

19
At what verbal mental age is it most common for typically developing children to become successful at false belief tasks?


a
4.


b
5.


c
6.


d
7.


e
8.

20
At what verbal mental age is it most common for autistic children to become successful at false belief tasks?


a
3.


b
5.


c
7.


d
9.


e
11.

Chapter 11

Reading and Mathematics 


1
What is a morpheme?


a
A unit of sound.


b
A unit of change.


c
A character.


d
A unit of meaning.


e
An alphabetic script.


2
What had to be isolated in language in order for humankind to produce an alphabet?


a
A morpheme.


b
An icecreme.


c
A phoneme.


d
A syllable.


e
A rhyme.


3
Why is it likely that Mann (1986) found that Japanese children are worse at phoneme tapping tasks than American children?


a
Experimenter bias.


b
Japanese script is based on syllables.


c
Japanese script is based on phonemes.


d
Japanese script is phonological.


e
Japanese script is unrelated to sound.


4
What does a rime consist of?


a
The vowel of the syllable.


b
The first consonant at the beginning of the syllable.


c
Two phonemes.


d
The vowel of the syllable and any consonants that follow.


e
Two morphemes.


5
Which of the following best describes the English language?


a
Irregular at the level of individual phonemes, but regular at the level of rime.


b
Regular at the level of phonemes, but irregular at the level of rime.


c
Regular at the level of phoneme–morpheme correspondences.


d
Irregular at all levels.


e
Regular at all levels.


6
Who demonstrated that children infer the sound of a new word from other words with the same rime?


a
Goswami.


b
Bryant.


c
Bradley.


d
Treiman.


e
Read. 

7

How many morphemes does the word “returned” have?


a
1.


b
2.


c
3.


d
4.


e
5.

8

Which of the following is an inflectional morpheme?


a
-ness.


b
un-.


c
-tion.


d
anti-.


e
-ed.

9

Derivational morphemes:


a
Tell you about the grammatical status of a word.


b
Change the meaning of a word.


c
Tell you about the temporal status of a word.


d
Pluralize a word.


e
All have the same letter–sound correspondences.

10
Even though the vowel sound in the two words “sign” and “signify” is different, the spelling of their stems is preserved. This phenomenon is known as:


a
Inflectional derivation.


b
Inflectional constancy.


c
Derivational inflection.


d
Derivational constancy.


e
Regular grapheme–phoneme correspondence.

11
The number of a group of objects stays the same, whatever its visual arrangement. This property of number is called:


a
Ordinality.


b
Ornithology.


c
Tegastology.


d
Scatology.


e
Cardinality.

12
Clearfield and Mix (1999) suggest that experiments demonstrating infant discriminations of number may actually be tapping discriminations based on:


a
Retinal afterimages.


b
Continuous quantity.


c
Location.


d
Contour density.


e
Faces.

13
Who claims to have demonstrated that infants can add and subtract?


a
Gelman.


b
Wynn.


c
Wakeley.


d
Langer.


e
Bryant.

14
Gelman and colleagues demonstrate that even though young children make errors in counting large number sets, they have some knowledge of “how to count,” as they can detect errors when a puppet fails to respect counting rules. Which hypothesis does this evidence support?


a
Skills-before-principles.


b
Principles-before-skills.


c
Counting-before-theory of mind.


d
Theory of mind-before-counting.


e
Reading-before-counting.

15
Which aspects of numeracy are not measured by Gelman et al.’s research?


a
Ordinality and cardinality.


b
Cardinality only.


c
Ordinality only.


d
The last number counted principle.


e
The one-to-one principle.

16
Why do Asian children do better at constructing the decimal system than European children?


a
Because they have more milk in their diets.


b
Unit numbers all sound different in European languages.


c
Unit numbers all sound the same in European languages.


d
Teen and decade numbers are less related to unit numbers in Asian languages.


e
Teen and decade numbers are less related to unit numbers in European languages.

17
Differences between the abilities of American and Taiwanese children at counting tasks support:


a
The innate theory of number.


b
The argument that eastern children have higher IQs.


c
The cultural tool theory of number.


d
The principles-before-skills theory.


e
The skills-before-principles theory.

18
Who claimed that young children have no understanding of ordinality or cardinality?


a
Gelman.


b
Wynn.


c
Gallistel.


d
Starkey.


e
Piaget.

19
Which of the following phrases was used by Piaget and Greco to describe how young children might understand that number words stay the same despite perceptual transformations, but have not yet realized that the actual number is unaffected by perceptual change? 


a
Reversibilité.


b
Vertical décalage.


c
Horizontal décalage.


d
Quantité without quotité.


e
Quotité without quantité.

20
Frydman and Bryant (1988) showed that young children were very able at sharing candy between recipients, but were unable to infer that the two recipients had the same “number” of candies. This is an example of:


a
Reversibilité.


b
Vertical décalage.


c
Horizontal décalage.


d
Quantité without quotité.


e
Quotité without quantité.

Chapter 12

Memory Development and Eyewitness Testimony

1
What term is used to describe a child’s tendency to change his or her memories in response to interrogation?


a
Flexibility.


b
Liability.


c
Rigidity.


d
Fluidity.


e
Suggestibility.


2
Recognition is easier than recall because:


a
There are no retrieval demands in recall.


b
There are no retrieval demands in recognition.


c
We recognize items more often than we recall them.


d
We recognize items less often than we recall them.


e
Recall is a longer process.


3
What is the first phase of the memory system?


a
Retrieval.


b
Encoding.


c
Storage.


d
Recognition.


e
Recall.


4
Which of the following factors cannot potentially influence what enters the memory system?


a
Attentional capacity.


b
Prior knowledge.


c
The duration of the original event.


d
Recalling the event at retrieval.


e
Stress level during the original event.


5
If the findings from an experiment are ecologically valid, then they:


a
Are replicable by other experimenters.


b
Apply to the population as a whole.


c
Measure what they are supposed to measure.


d
Demonstrate the influence of genetic factors.


e
Are meaningful in the real world.


6
What term refers to a memory for a specific event?


a
Semantic.


b
Explicit.


c
Implicit.


d
Short-term memory.


e
Episodic.

7

What term is used to denote generalized event representations?


a
Slots.


b
Scripts.


c
Awarenesses.


d
Metamemories.


e
Episodes.


8
Which phenomenon is sometimes used as evidence for the idea that words are an important aid for the recall of memories?


a
Metamemory.


b
Korsakoff syndrome.


c
Top-down encoding.


d
Childhood amnesia.


e
Script mismatch.


9

At around what age do children go through a vocabulary spurt?


a
6 months.


b
1 year.


c
3 years.


d
5 years.


e
7 years.

10
Which of the following is not an aspect of metamemory?


a
Understanding retroactive interference.


b
Knowing the circumstances that facilitate encoding.


c
Knowing the circumstances that facilitate recall.


d
Understanding the factors that cause childhood amnesia.


e
Understanding the appropriate use of mnemonics.

11
Whose theory of cognitive development emphasized, in particular, the role of social context in cognitive growth?


a
Bruner.


b
E. J. Gibson.


c
J. J. Gibson.


d
Piaget.


e
Vygotsky.

12
We cannot be sure whether the acquisition of metamemory skills leads to the improvement of memory because the majority of studies investigating this relationship are:


a
Intervention studies.


b
Methodologically flawed.


c
Correlational.


d
Longitudinal.


e
Cross-sectional.

13
Which of the following is a straightforward way of manipulating the strength of a memory?


a
Memory suppression.


b
Repetition.


c
Suggestion.


d
Physical exercise.


e
Time delay.

14
Under what circumstances might an older child be more susceptible to suggestion than a younger child?


a
When the older child has more knowledge of scripts.


b
When the younger child has more knowledge of scripts.


c
When the older child is tired.


d
When the older child has less knowledge of the event.


e
When the younger child has less knowledge of the event.

15
Which of the following is a sign of compliance and confusion in a child?


a
Drooping eyelids.


b
Fast speech.


c
Repetitive speech.


d
Long pauses in speech.


e
Echolalia.

16
According to the research of Ceci, DeSimone, Putnick, Lee, and Toglia (1990), what percentage of preschool children will lie to sustain a game?


a
10%.


b
30%.


c
50%.


d
70%.


e
90%.

17
“An outgoing and confident person.” Which of the following traits does this best describe?


a
Agreeableness.


b
Introversion.


c
Extraversion.


d
Emotional stability.


e
High schizotype.

18
Scullin and Warren (1999) found that individual children who are suggestible in one situation are more likely to be suggestible in another situation. What does this tell us?


a
Suggestibility is far too pervasive in today’s society.


b
Children have one generalized script for every situation.


c
Suggestibility is a trait of the individual.


d
Suggestibility is dependent upon context.


e
Children are very good at lying.

19
To what component of susceptibility do Scullin and Ceci apply the term “shift”?


a
The tendency to change answers when the interviewer tells the child that he or she has missed some.


b
The tendency to lie unintentionally to the interviewer.


c
The tendency to lie intentionally to the interviewer.


d
The tendency to incorporate misleading information into an answer.


e
The tendency to submit to the interviewer’s interpretation of the event.

20
Which aspect of suggestibility remains relatively stable as age increases?


a
The tendency to shift.


b
The tendency to break down in tears.


c
The tendency to blame.


d
The tendency to yield.


e
The tendency to lie.

Chapter 13 
Play and Peer Relations


1
Simple play with objects emerges after:


a
2 months.


b
6 months.


c
12 months.


d
18 months.


e
2 years.


2
How much of pretend play is social?


a
0%.


b
25%.


c
50%.


d
75%.


e
100%.


3
Which of the following terms describes how a parent or an older partner supports the development of social pretense?


a
Centration.


b
Decentration.


c
Peer relationships.


d
Scripting.


e
Scaffolding.


4
Which of Parten’s (1932) categories of social interaction is used to denote a child playing near peers, with the same materials, but without much interaction?


a
Associative.


b
Solitary.


c
Parallel.


d
Onlooker.


e
Cooperative.


5
Which of the following types of play was not described by Piaget?


a
Sensorimotor.


b
Symbolic.


c
Pretend.


d
Games with rules.


e
Constructive.


6
Who introduced the four-stage theory of play?


a
Piaget.


b
Parten.


c
Dunn.


d
Harris.


e
Smilansky.

7

Which of the following types of play emerges at the earliest age?


a
Rough-and-tumble play.


b
Rhythmical stereotypes.


c
Pretend play.


d
Sociodramatic play.


e
Exercise play.


8
Which of the following types of play did Smilansky emphasize as being important for normal development?


a
Rough-and-tumble play.


b
Rhythmical stereotypes.


c
Exercise play.


d
Sociodramatic play.


e
Sensorimotor play.


9
Which of the following is one of the flaws in the play-tutoring intervention studies undertaken in the 1970s and 1980s?


a
Play-tutored children were given more intervention than control participants.


b
Control participants were given more intervention than play-tutored participants.


c
These studies used “blind” testing.


d
Only Israeli children were tested.


e
Only American children were tested.

10
What type of play is thought to be important in the development of a theory of mind?


a
Functional.


b
Constructive.


c
Games with rules.


d
Pretend play.


e
Exercise play.

11
The most likely function of rough-and-tumble play is in:


a
Developing a theory of mind.


b
Impressing the opposite sex.


c
Developing sporting ability.


d
Establishing a position in a dominance hierarchy.


e
Learning when not to use restraint.

12
In Dodge et al.’s (1983) study of how children attempted to join ongoing play, which sociometric status tended to try disruptive actions, such as interrupting the play?


a
Popular.


b
Controversial.


c
Rejected.


d
Neglected.


e
Average.

13
What sociometric status of child is most likely to “cheat” in play fighting?


a
Popular.


b
Controversial.


c
Rejected.


d
Neglected.


e
Average.

14
Which of Dodge et al.’s (1986) stages of peer interaction are thought to be those with which aggressive children have the most difficulty?


a
Encoding and interpreting the incoming information.


b
Encoding the incoming information and enacting a response.


c
Interpreting the encoded information, evaluating the appropriate responses, and selecting the best.


d
Interpreting the encoded information and enacting a response.


e
Searching for and evaluating appropriate responses, and selecting the best.

15
Which of the following is described by Newcomb and Bagwell (1995) as being a feature of interactions between friends as compared to nonfriends?


a
More intense social activity.


b
More reciprocity and intimacy.


c
More effective task performance in joint or cooperative tasks.


d
More constructive criticism.


e
All of these.

16
Which of the following is a link that Parker and Asher (1987) found between peer relationships in childhood and later outcome?


a
Low peer acceptance, and involvement in juvenile/adult crime.


b
Low peer acceptance, and dropping out of school early.


c
Aggressiveness at school, and adult psychopathology.


d
Shyness/withdrawal, and involvement in juvenile/adult crime.


e
Shyness/withdrawal, and dropping out of school early.

17
Which of the following best describe girls’ preferred play at age 6–7?


a
Aggressive, indoor, team-oriented.


b
Indoor, empathic, paired activities.


c
Outdoor, team-oriented, aggressive.


d
Outdoor, empathic, paired activities.


e
Indoor, empathic, team-oriented.

18
Which social learning theorist suggests that children are molded into sex roles by the behavior of adults?


a
Collaer.


b
Smilansky.


c
Piaget.


d
Bandura.


e
Schweder.

19
What term is used to describe children’s imitation of same-sex models?


a
Decentration.


b
Empathy.


c
External reinforcement.


d
Prejudice.


e
Self-socialization.

20
Which of the following terms best describes the design of an experiment which observed behavior in a group of children at 10 years of age, and then followed up by interviewing the same participants 13 years later?


a
Longitudinal.


b
Intervention.


c
Cross-sectional.


d
Observational.


e
Participant-controlled.

Chapter 14
Prosocial Tendencies, Antisocial Behavior, and Moral Development


1
The facet of social development that shows the most continuity across childhood and adolescence is:


a
Aggression.


b
Empathy.


c
Extraversion.


d
Social play.


e
Neuroticism.


2
Which of the following occupies more of children’s time?


a
Watching television.


b
Playing boardgames.


c
Interacting with peers.


d
Interacting with parents.


e
Attending school.


3
Preschool children who are high in overt and relational aggression:


a
Do not have an adequate diet.


b
Are often judged low in prosocial behavior.


c
Tend to be the eldest of several siblings.


d
Are often the leaders of large peer groups.


e
Do not generally have any social interaction.


4
According to Caspi et al. (1995), the personality scale of “approach” is reflected in:


a
Extraversion.


b
Good school performance.


c
Passivity.


d
Emotional lability.


e
Aggression.


5
The results of a study of schoolchildren are likely to generalize to other populations if:


a
The sample is larger than 100.


b
The sample is lower than 100.


c
The children have few absences from school.


d
The children are over 7 years of age.


e
The sample is not biased.


6
Which of the following personality traits in early childhood is most likely to be associated with later antisocial behavior?


a
Lack of control.


b
Neuroticism.


c
Sluggishness.


d
Depression.


e
Extraversion.


7
The three personality traits described by Caspi et al. (1995) are:


a
Neuroticism, extraversion, and approach.


b
Neuroticism, approach, and emotional regulation.


c
Lack of control, approach, and passivity.


d
Lack of control, approach, and neuroticism.


e
Lack of control, sluggishness, and approach.


8
In the Dunedin sample, what proportion of boys were likely to be consistently high in antisocial behavior across childhood and adolescence?


a
1%.


b
4%.


c
7%.


d
10%.


e
15%.


9
Boys who are consistently high in antisocial behavior across childhood and adolescence:


a
Are likely to have few social problems in later life.


b
Are likely to have a propensity toward drug addiction.


c
Are unlikely to have atypical behavior patterns in later life.


d
Were likely to have difficult temperaments as 3-year-olds.


e
Were not noticeably different from other 3-year-olds.

10
Which of the following tests was used by Moffitt, Lynam, and Silva (1994) to test antisocial boys for problems with mental flexibility?


a
Vocabulary test.


b
Picture recognition test.


c
Digit span test.


d
Delayed response test.


e
Wisconsin Card Sort Test.

11
The activity of which brain structure (in response to environmental stress) is associated with internalizing and externalizing problems in clinic-referred antisocial children?


a
Hypothalamus.


b
Superior colliculus.


c
Lateral geniculate nucleus.


d
Amygdala.


e
Hippocampus.

12
At what approximate age does Piaget suggest that children begin to take into account the intentions of others when considering moral issues?


a
4 years.


b
7 years.


c
10 years.


d
13 years.


e
16 years.

13
Which of Kohlberg’s stages of moral reasoning is the first to be observed in children?


a
Social system morality.


b
Punishment and obedience orientation.


c
Human rights and social welfare morality.


d
Instrumental morality.


e
Interpersonal normative morality.

14
At which of Kohlberg’s stages do individuals begin to consider how the self is evaluated by others?


a
Stage 1.


b
Stage 2.


c
Stage 3.


d
Stage 4.


e
Stage 5.

15
Who demonstrated that young children reason in thoughtful ways about sharing in peer contexts (distributive justice)?


a
Piaget.


b
Kohlberg.


c
Turiel.


d
Damon.


e
Blasi.

16
Children who are aggressive:


a
Are less likely to attribute hostile intent to ambiguous situations.


b
Are more likely to attribute hostile intent to ambiguous situations.


c
Are more likely to attribute blame to others.


d
Are more likely to attribute blame to themselves.


e
Make fewer attributions.

17
Which of the following characterizes Kohlberg’s stage theory of moral reasoning?


a
Relativist.


b
Nativist.


c
Universality.


d
Surrealist.


e
Postmodernist.

18
Which of the following enables children to pass through stages of moral reasoning at a faster rate?


a
An ability to regulate their expression of anger.


b
An ability to do well in personality tests.


c
An ability to regulate their emotions.


d
An ability to empathize with others’ emotions.


e
An ability to attend to their parents’ instructions.

19
In comparison to European countries, adolescents in the United States are:


a
Half as likely to experience a violent death.


b
Less likely to reach the higher stages of moral reasoning.


c
Less able to regulate their emotions.


d
Better able to regulate their emotions.


e
Twice as likely to experience a violent death.

20
Which of the following is a common criticism of Kohlberg’s theory of moral development?


a
Attitudes expressed in moral dilemmas are not always related to action.


b
Children always pass sequentially through the stages.


c
Not everyone reaches stage 5.


d
Everyone reaches stage 5.


e
Not everyone begins at stage 1.

Chapter 15
Cognitive Development in Adolescence


1
When addressing the question of how adolescents’ problem-solving abilities are related to their other cognitive abilities, we are referring to:


a
Their IQ.


b
The structure of their thinking.


c
The content of their thinking.


d
The egocentric nature of their thinking.


e
The process of their thinking.


2
In a “central-incidental learning task,” it may be hypothesized that a child with high selective attention should show:


a
High retention for items in the central category, but low retention for items in the incidental category.


b
Low retention for items in the central category, and high retention for items in the incidental category.


c
Difficulty in concentrating on the task.


d
High retention for items in both categories.


e
Low retention for items in both categories.


3
Which of the following hypotheses claims that children have different information about faces represented in memory at different ages?


a
The d prime index hypothesis.


b
The encoding switch hypothesis.


c
The featural processing hypothesis.


d
The configurational processing hypothesis.


e
The differential processing hypothesis.


4
At what age do children generally begin to use configurational information when recognizing faces?


a
8 years.


b
10 years.


c
12 years.


d
14 years.


e
16 years.


5
How do organization strategies aid the storage of a list of items in long-term memory?


a
By rehearsing the list of items.


b
By linking each item to other information already committed to memory.


c
By writing down the information on paper.


d
By considering each item in turn for a minute or two.


e
By clustering groups of items in memory according to category.


6
What is Wechsler’s Intelligence Test for Children composed of?


a
A mathematics scale and a reading scale.


b
A verbal scale and a performance scale.


c
A mathematics scale and a performance scale.


d
A mathematics scale, a reading scale, and a performance scale.


e
A mathematics scale, a verbal scale, and a performance scale.


7
Which of the following develops the least during adolescence?


a
Arithmetic.


b
Information.


c
Vocabulary.


d
Comprehension.


e
Digit span.


8
What does Horn (1978) associate with the decline of “fluid” intelligence?


a
Increased exposure to lead.


b
The crystallization of the “fluid.”


c
Deterioration of the neocortex.


d
Deterioration of brain structures governing the senses.


e
Deterioration of brain structures governing alertness and attention.


9
Who discovered the generational IQ gains?


a
Horn.


b
Slater.


c
Piaget.


d
Flynn.


e
Wechsler.

10
Which of the following indicates that children, as they get older, increasingly come to understand the logical form of reasoning problems?


a
They find abstract problems difficult at all ages.


b
They become more accurate at answering content-specific problems.


c
They become more accurate at answering deductive rather than inductive problems.


d
They become more accurate at answering inductive rather than deductive problems.


e
They become worse at reasoning with complex analogies.

11
Which of the following is an example of analogical reasoning?


a
A is to B.


b
All C are B, and all B are A, therefore all A are C.


c
A is to D.


d
All C are B, and all B are A, therefore some A are C.


e
A is to B as C is to D.

12
Which of the following is an example of transitive inference?


a
If A < B and B < C then A < C.


b
If A + C = B then A – C does not equal B.


c
2 = 2.


d
A is to B as C is to D.


e
4 + 5 = 9

13
What term did Piaget apply to the ability of adolescents to solve different conservation tasks with one rule?


a
Concrete operations.


b
Reversibility.


c
Conservation.


d
Single-strategy development.


e
Interpropositional thinking.

14
The pendulum problem tests formal operational thought by determining whether adolescents can:


a
Isolate length as the single factor influencing swinging speed.


b
Isolate weight as the single factor influencing swinging speed.


c
Acknowledge both distance from fulcrum and weight as factors influencing balance.


d
Acknowledge both length and weight as factors influencing swinging speed.


e
Isolate weight as the single factor influencing balance.

15
Which of the following does not demonstrate how experience affects the development of formal operational thought?


a
Intercultural differences.


b
Intercultural similarities.


c
Gender differences within specific cultures.


d
Intereducational differences.


e
Cross-generational gains.

16
Who proposed a rule-based information-processing account of adolescent thinking?


a
Siegler.


b
Inhelder.


c
Piaget.


d
Bremner.


e
Kuhn.

17
What is the most important difference between Piaget’s theory of formal operations and the theory of “the child as an intuitive scientist”?


a
Piaget is describing the mental operations of older children.


b
Piaget’s theory was formulated earlier.


c
Piaget’s theory does not include knowledge of physical laws.


d
Piaget’s theory is domain-general.


e
Piaget’s theory is domain-specific.

18
Which of the following is not one of the flaws identified in children’s incorrect use of intuitive theories?


a
The separation of theory and evidence.


b
Selective attention to evidence consistent with a theory.


c
The use of theories in a limited number of domains.


d
The manufacture of evidence consistent with a theory.


e
The inability to accept counterevidence when there is no plausible alternative theory.

19
What is the term used to denote thinking about thought processes?


a
Reversibility.


b
Intelligence.


c
Metacognition.


d
Intrapropositional thinking.


e
Flexibility.

20
Which of these is not one of Keating’s (1980) five major characteristics associated with the development of thinking in adolescence?


a
Hypothesis testing and scientific reasoning.


b
Planning toward the future.


c
A focus on the here-and-now, rather than on realms of possibility.


d
Metacognition.


e
Expansion of thinking to social, political, and moral issues.

Chapter 16 
Social Development in Adolescence


1
Which of the following statements describes Hall’s theory of development?


a
Phylogeny recapitulates psychology.


b
Phylogeny recapitulates ontogeny.


c
Horology recapitulates genealogy.


d
Psychology recapitulates philosophy.


e
Ontogeny recapitulates phylogeny.


2
Which of the following best describes the period of adolescence?


a
Not universally stressful, and in fact stress is less likely at this period than at any other.


b
Not universally stressful, but stress is more likely at this period than at other times in the life span.


c
Universally a time of increased stress.


d
Universally a time of decreased stress.


e
A transition from stress to calmness. 


3
Lewin introduced the idea that behavior can be predicted from the interaction between a person and their environment. This is known as:


a
Field theory.


b
Dynamical systems theory.


c
Interactionist modeling.


d
Connectionist modeling.


e
Premature theory.


4
When considering social development, Lewin once said, “regions become more numerous, and the boundaries between them become less permeable.” What was he referring to?


a
Behavior.


b
Geographic space.


c
Social space.


d
Life space.


e
Outer space.


5
Using a time allocation survey, Bruno (1996) examined how long adolescents spend on particular activities. Which did American adolescents spend most of their time doing?


a
Specific-directed activities.


b
Inner-directed activities.


c
Nondirected activities.


d
Outer-directed activities.


e
Super-directed activities.


6
Which best expresses gender differences in adolescent time allocation?


a
Girls spend more time in other-directed and more time in nondirected activities.


b
Boys spend more time in nondirected and less time in inner-directed activities.


c
Girls spend less time in outer-directed and less time in nondirected activities.


d
Boys spend less time in other-directed and more time in nondirected activities.


e
Girls spend less time in inner-directed and more time in nondirected activities.

7

Flammer, Alsaker, and Noack (1999) reported that adolescents spend an average of:


a
4.42 hours a day in leisure activities.


b
4.42 hours a day in necessary activities.


c
8.83 hours a day in leisure activities.


d
8.83 hours a day in necessary activities.


e
2.2 hours a day in the bath.


8
Which of the following activities was reported by Philipp (1998) to be valued equally by black and white adolescents?


a
Basketball.


b
Soccer.


c
Camping.


d
Going shopping.


e
Playing a musical instrument.


9
Who is best known for introducing the ideas of psychoanalysis to explaining the development of personality and behavior in adolescence?


a
Sigmund Freud.


b
Karl Jung.


c
Kurt Lewin.


d
Clement Freud.


e
Anna Freud.

10
Who suggested that psychological progression is more important to the changes in adolescence than biological progression?


a
Peter Blos.


b
Anna Freud.


c
Kurt Lewin.


d
Jean Piaget.


e
Karl Jung.

11
Who is best known for categorizing parents’ behavior toward their children?


a
Peter Blos.


b
Diana Baumrind.


c
Anna Freud.


d
Harry Stack Sullivan.


e
G. Stanley Hall.

12
Which parental style is high on responsiveness and demandingness?


a
Indulgent.


b
Considerate.


c
Authoritative.


d
Neglectful.


e
Abusive.

13
Which parental style is high on responsiveness, but low on demandingness?


a
Indulgent.


b
Authoritarian.


c
Authoritative. 


d
Neglectful.


e
Abusive.

14
The highest social competence in the children has been linked to which parental style?


a
Indulgent.


b
Passive.


c
Authoritative. 


d
Neglectful.


e
Abusive.

15
Harry Stack Sullivan considered which of these to be most important in guiding development and shaping social behavior?


a
Intrapsychic processes.


b
Interpersonal processes.


c
Interpsychic processes.


d
Extrapersonal processes.


e
Extraterrestrial processes.

16
Which developmental stage did Sullivan suggest was characterized by the emerging interpersonal need of friendship intimacy?


a
Childhood.


b
Preadolescence.


c
Early adolescence.


d
Late adolescence.


e
Adulthood.

17
Which interpersonal need did Sullivan suggest emerges during early adolescence?


a
Acceptance.


b
Tenderness.


c
Romantic intimacy.


d
Companionship.


e
The integration of a love relationship.

18
At which stage of Brown’s model of romantic development does focus shift away from the context in which the relationship exists, and onto the relationship itself?


a
Status phase.


b
Initiation phase.


c
Bonding phase.


d
Boring phase.


e
Affection phase.

19
Which term refers to a period of search in an individual, in which a stable, consistent sense of identity has not yet been achieved?


a
Mausoleum.


b
Moratorium.


c
Identification.


d
Affiliation


e
Identitarium. 

20
Which of these best describes the development of the “self-concept” from childhood through adolescence?


a
It moves from definition by observable characteristics to more internal characteristics.


b
It moves from definition by internal characteristics to more observable characteristics.


c
It is increasingly defined by both internal and observable characteristics.


d
It is increasingly defined by parental characteristics.


e
It is increasingly undefined.

Chapter 17
Educational Implications

1
Psychologists are not the most favored applicants for teacher training because:


a
Degree courses do not teach them enough about education.


b
They read too much into young children’s behavior.


c
They generally achieve lower degree classes than students of other subjects.


d
Psychology is neither an art nor a science.


e
Psychology is not a specified UK National Curriculum subject.


2
Whose theory of development is particularly noted for its emphasis on the role of active experience?


a
Vygotsky.


b
Froebel.


c
Piaget.


d
Inhelder.


e
Davis.


3
Why did Bryant (1990) suggest that cognitive conflict may not be as important to developmental advance as Piaget originally suggested?


a
There is no reason why conflict should be resolved in the correct direction.


b
Conflict causes damage to cells in the parietal lobe.


c
Conflict causes damage to cells in the temporal lobe.


d
Conflict causes aggressive behavior.


e
Conflict does not often arise.


4
What type of design has become common in work investigating peer interaction effects?


a
1-stage design.


b
2-stage design.


c
3-stage design.


d
4-stage design.


e
5-stage design. 


5
On which of Piaget’s paradigms did Perret-Clermont (1980) demonstrate a peer-facilitation effect?


a
Perspective-taking.


b
Visual cliff.


c
3D drawing.


d
Conservation.


e
Transitive inference.


6
Hughes (1986) found that gender differences, in favor of boys, become apparent when children work with a programming language. Which programming language did Hughes use?


a
Turbo Pascal.


b
Basic. 


c
LOGO.


d
C.


e
HTML.


7
Monteil (1992) found that children had more positive learning outcomes in individual learning contexts if:


a
They were informed of a mismatch between their expected performance and their actual performance.


b
They were informed of a match between their expected performance and their actual performance.


c
The lights were turned off.


d
Mozart was played in the background.


e
They were given no learning apparatus.


8
Whose theoretical account of development prioritizes the social nature of learning?


a
Piaget.


b
Skinner.


c
Lorenz.


d
Bowlby.


e
Vygotsky.


9
Which of the following describes Vygotsky’s view of knowledge acquisition?


a
Knowledge exists within an individual before it can exist between individuals.


b
Knowledge is formed within individuals in isolation, and is then passed on.


c
Knowledge is preformed, and emerges through maturation.


d
Knowledge exists between individuals before it can exist within an individual.


e
Knowledge is formed through the adaptation of action schemata to the environment.

10
What term is given to the means by which adults structure and simplify the environment to facilitate children’s learning?


a
Support.


b
Scaffolding.


c
Lean-to.


d
Top-down structure.


e
Learning abstraction.

11
Following research into types of teaching that are effective in mother–child situations, Wood (1986) describes the behavior which is most effective. This is termed as:


a
Intransient.


b
Passive.


c
Autocratic.


d
Contingent.


e
Stipulatory.

12
How has Wood’s description of successful learning in mother–child pairs been criticized by Hoogsteder, Maier, and Elbers (1996)?


a
The child should play more of a role.


b
The mother should play more of a role.


c
Not enough people are involved.


d
Peers are usually better at teaching than adults.


e
More food rewards should be offered by the parents.

13
Robert Slavin has put Vygotskyan principles into educational practice in the US. What was his method called?


a
Student Teams Achievement Divisions.


b
Summer Time Activity Direction.


c
Student Teams Attention Direction.


d
Student Task Attainment Division.


e
Summer School Arithmetic Division.

14
Why do Mercer and Fisher (1998) suggest that actual classroom research does not fully embrace the concept of the ZPD?


a
Because not enough people have studied Vygotskyan theory.


b
Because Vygotskyan theory has been misunderstood.


c
Because the ZPD is highly specific to particular children and situations, and thus hard to put into practice.


d
Because the ZPD is too abstract.


e
Because putting the concept of the ZPD into practice increases aggressiveness in the classroom.

15
Who was the secretary for education when the UK Education Reform Act of 1988 was introduced?


a
Margaret Thatcher.


b
Kenneth Baker.


c
Kenneth Williams.


d
Jean Piaget.


e
George Bush.

16
In the past twenty years in the UK, educational emphasis has moved from child-centered to:


a
Teacher-centered.


b
Curriculum-centered.


c
Community-centered.


d
Class-centered.


e
Group-centered.

17
In the National Curriculum introduced in the UK in 1988 with the Education Reform Act, which subjects are considered “core,” demanding the most of curriculum time?


a
English, Mathematics, Science.


b
Technology, Art, Science.


c
English, Science, History.


d
Geography, Science, English.


e
Science, Technology, History.

18
What is the name given to all the subjects that are compulsory under the UK National Curriculum?


a
Core.


b
Fundamental.


c
Arts.


d
Sciences.


e
Foundation.

19
What is the name of the National Curriculum tests given in the UK?


a
Selective Attainment Tests.


b
Standard Assessment Tasks.


c
Standard Achievement Tests.


d
Selective Assessment Tasks.


e
Specific Assessment Tests.

20
The year 2000 was an important year for research assessing the effect of the National Curriculum (NC) on educational standards in the UK because:


a
It saw the commencement of the NC.


b
It was the Chinese year of the pupil.


c
The NC was replaced by a more norm-referenced approach.


d
The NC was replaced by a more mean-referenced approach.


e
It saw the first cohort of children to have experienced the NC thoughout their school career.

Chapter 18
Social Problems in School


1
When was the first systematic research on bullying conducted?


a
1950s.


b
1960s.


c
1970s.


d
1980s.


e
1990s.


2
Which of the following is the best encompassing description of bullying?


a
Physical abuse.


b
Verbal abuse.


c
Sexual abuse.


d
Peer abuse.


e
Child abuse.


3
Which of the following is an example of indirect bullying?


a
Punching.


b
Covert punching.


c
Social isolation.


d
Verbal insults.


e
Sexual harassment.


4
Which of the following best describes the way bullying problems vary with age?


a
Bullying incidence increases with age, as does the use of physical means.


b
Bullying incidence decreases with age, while the use of physical means stays the same.


c
Bullying incidence does not change with age, but the use of physical means decreases.


d
Bullying incidence does not change with age, but the use of physical means increases.


e
Bullying incidence decreases with age, as does the use of physical means.


5
Which of the following best describes gender roles in bullying?


a
Boys are more often victims and, in particular, perpetrators of indirect bullying.


b
Girls are more often victims and, in particular, perpetrators of direct bullying.


c
Boys are more often victims and, in particular, perpetrators of direct bullying.


d
Girls are more often perpetrators of both direct and indirect bullying.


e
Boys are more often victims of indirect bullying, and girls are more often victims of direct bullying.


6
Which of the following best describes the relation of class size to bullying?


a
There is a relationship between class size and type of bullying.


b
There is a negative correlation between class size and relative frequency of bullying problems.


c
There is a positive correlation between class size and absolute frequency of bullying problems.


d
There is a negative correlation between class size and absolute frequency of bullying problems.


e
There is no correlation of class size with absolute or relative frequency of bullying problems.


7
Which of the following types of student is characterized by anxious and aggressive reaction patterns?


a
The provocative victim.


b
The submissive victim.


c
The passive victim.


d
The passive bully.


e
The active bully.


8
Bullies are usually:


a
More aggressive, more dominant, and less empathic than others.


b
More aggressive, less dominant, and less empathic than others.


c
More insecure, less dominant, and more empathic than others.


d
More aggressive, more dominant, and more empathic than others.


e
More insecure, more dominant, and more aggressive than others.


9
Are bullies generally physically stronger than an average student?


a
Only if they are boys.


b
Only if they are girls.


c
Yes.


d
No.


e
Only when they are younger.

10
Are boys rated as “highly aggressive” by their teachers always bullies?


a
Yes.


b
About 80–100% of the time.


c
About 60–80% of the time.


d
About 40–60% of the time.


e
About 20–40% of the time.

11
Which of the following is not likely to contribute toward the development of an aggressive reaction pattern in a child?


a
A negative emotional attitude in the caregiver.


b
A caregiver’s permissiveness for aggressive behavior.


c
A caregiver’s involvement in the school situation.


d
A hot-headed temperament in the child.


e
Use of power-assertive rearing methods.

12
Which of the following group mechanisms is not likely to contribute directly to group bullying?


a
Social contagion.


b
Weakening control over aggressive tendencies.


c
Polarization of opinion.


d
Concentration of responsibility.


e
Gradual cognitive changes in the perceptions of bullying and of the victim.

13
Who developed an intervention program for bullying in Bergen, Norway?


a
Bandura.


b
Johannsen.


c
Rutter.


d
Olweus.


e
Vygotsky.

14
Which term best describes the design of the following intervention study: “An intervention program in which data were collected at four different age groups, one time before the intervention program, and twice afterwards, at yearly intervals”?


a
Cross-sectional.


b
Age-cohort.


c
Age-legion.


d
Case-study.


e
Cross-lagged correlation.

15
In the Bergen intervention program, which of the following kinds of adult–child interaction models was fostered?


a
Authoritative.


b
Passive.


c
Indulgent.


d
Neglectful.


e
Authoritarian.

16
Which is the most important reason why teacher intervention in bullying situations should be closely followed up?


a
Because the situation may become worse for the bully.


b
Because the situation may become worse for the victim.


c
Because the situation may become worse for the teacher.


d
Because the victim may become a bully.


e
Because the bully is liable to find a different victim.

17
Which of the following was not a result of the Bergen intervention program?


a
A displacement of bullying in the school, to bullying to and from the school.


b
Improved social order in the classroom.


c
A reduction in the number of new victims developing thereafter.


d
A reduction in generally antisocial behavior.


e
A reduction in the frequency of reported bullying incidents.

18
Implementing essential aspects of a bullying intervention program to a greater extent produces a greater reduction in bullying. This effect is a:


a
Negative correlation between bullying frequency and intervention.


b
Artifact due to underreporting by the students.


c
Artifact due to time trends.


d
Artifact due to changes in attitude toward bullying.


e
Dosage-response relationship.

19
By how much have registered forms of criminality increased in Scandinavia since the 1950s?


a
200–400%.


b
400–600%.


c
600–800%.


d
800–1,000%.


e
1,000–1,200%.

20
Which of the following was not a measure taken in Olweus’s core program?


a
Awareness and involvement on the part of the adults.


b
Questionnaire survey.


c
Serious talks with bullies and victims.


d
Regular class meetings with students.


e
Authoritarian supervision during lunch time.

Chapter 19
Disorders of Development


1
Profound visual impairment is defined as:


a
Children who may be able to distinguish shades of light from dark, but little else.


b
Children who are able to perceive form and shape in a limited fashion.


c
Children who are able to perceive color in a limited fashion.


d
Children who are able to perceive faces, shapes, and color in a limited fashion.


e
Children who are completely blind.


2
The incidence of Down’s syndrome is about:


a
1 to 2 per 10,000.


b
4 to 5 per 10,000.


c
8 to 9 per 10,000.


d
12 to 13 per 10,000.


e
16 to 17 per 10,000.


3
What is the approximate proportion of children who are identified as having some sort of disability at some point in their development?


a
1 in 3.


b
1 in 6.


c
1 in 12.


d
1 in 22.


e
1 in 45.


4
Which of the following is a feature shared by most children with Down’s syndrome?


a
Sleepwalking.


b
Islets of ability.


c
An inability to blink.


d
Reduced muscle tone.


e
Echolalia.


5
It is possible to diagnose Down’s syndrome prenatally by a method called:


a
Meiosis.


b
Mitosis. 


c
Chromosoamnesis.


d
Centioamnesis.


e
Amniocentesis.


6
At around what age do infants with profound visual impairment begin to display differences from typical infants?


a
From birth.


b
2 months.


c
4 months.


d
6 months.


e
12 months.


7
The delay in the development of self-initiated movements such as crawling and walking in infants with profound visual impairment reflects: 


a
Their poor muscle control.


b
A fear of bumping into things.


c
A lack of appreciation that there are objects and people around them.


d
A preoccupation with stereotyped, repetitive behaviors.


e
Their inability to hear.


8
Children with profound visual impairment begin to reach for objects at about:


a
4–5 months.


b
10–11 months.


c
15–16 months.


d
2 years.


e
3 years.


9
Which of the following is a characteristic of the behavior of infants with profound visual impairment toward their parents?


a
They do not often face in the direction of their parents.


b
They dislike contact with their parents.


c
They first show distress when their parent leaves the room at a later age than typical infants.


d
They first show distress when their parent leaves the room at an earlier age than typical infants.


e
They never breastfeed.


10
Echolalia is:


a
Repeating isolated words.


b
Repeating words and phrases to emphasize their meaning.


c
Shouting by deaf children.


d
Repeatedly asking questions.


e
Repeating words and phrases in a meaningless way.

11
Which of the following parts of speech do children with profound visual impairment have particular difficulty with?


a
Verbs.


b
Adjectives.


c
Pronouns.


d
Adverbs.


e
Nouns.

12
An autistic child with excellent rote memory is displaying a:


a
Theory of mind deficit.


b
Savant skill.


c
Stereotyped behavior.


d
Low IQ.


e
High IQ.

13
Baron-Cohen, Leslie, and Frith (1985) use the “Sally-Anne task” to demonstrate that autistic children have:


a
A theory of mind deficit.


b
Stereotyped behaviors.


c
A low IQ.


d
Savant skills.


e
Weak central coherence.

14
Which of the following is an adequate criticism of the executive function account of autism?


a
It cannot explain hearing difficulties.


b
It cannot explain stereotyped behavior.


c
It cannot explain social difficulties.


d
It cannot explain the similarity between autistic children and children with damage to the frontal lobe.


e
It cannot explain differences between autistic children and children with damage to the frontal lobe.

15
Which of the following researchers uses the association of profound visual impairment and autism in some children as evidence that the primary impairment in autism is in the capacity to engage in social interaction?


a
Frith.


b
Hobson.


c
Russell.


d
Baron-Cohen.


e
Leslie.

16
What observation has led to the suggestion that Down’s syndrome (DS) children’s delayed development is due to a slower information-processing capacity?


a
DS children under 2 years old take longer to learn a contingency.


b
DS children learn to walk later than typically developing children.


c
DS children first vocalize later than typically developing children.


d
DS children first make eye contact later than typically developing children.


e
DS children have marked hypotonia.

17
What can we conclude from Down’s syndrome children’s IQ scores which decrease with age?


a
Their chronological age is not keeping pace with their mental age.


b
Their mental age is not keeping pace with their chronological age.


c
Their development is regressing.


d
They have slower reactions.


e
Their cognitive skills do not develop past a certain point.

18
Wishart (1993) found that Down’s syndrome children’s developmental quotient does not decline if performance is based on:


a
Only the first ten test items.


b
An average of scores across several test sessions.


c
Test items passed at least once over several test sessions.


d
Typically developing children’s scores.


e
Motor ability.

19
Why might it be that children and young people with Down’s syndrome confuse words that are more similar in shape, rather than words that are more similar in sound?


a
Because their reactions are slower.


b
Because their reactions are faster.


c
Because they have learned to read by linking print and meaning.


d
Because they have learned to read by linking sound and meaning.


e
Because their reading ability is developmentally delayed.

20
Which of the following is a way in which the behavior of children with Down’s syndrome suggests a different (rather than delayed) development?


a
The emergence of gross motor milestones.


b
The emergence of fine motor milestones.


c
Self-recognition.


d
Progress through object permanence tasks.


e
The emergence of vocalization.




